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1.

Tick (v') the correct answers.
(a) What is the little boy asking his Mamma to do?
V' to open her eyes to play with him

(b) What will soon begin?
V4 day school

(c) From where did the two little boys peep?

V' from Mamma’s eyes from Mamma’s lap

(d) When did the two little boys peep out of Mamma’s eyes?

\V  yesterday today

Read these sentences. Write T for true and F for false.

(a) The boy wanted to look into his Mamma’s eyes.
(b) The boy was playing with the other two boys. : F
(c) There were two boys in Mamma’s eyes. T
(d) The two little boys in Mamma’s eyes looked bigger

than the boy. F

L% Speaking Junction

Arun and Nita are talking to each other.




{ "type": "Document", "isBackSide": false }

